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Ccutclic{ctes are reqttirec{ ta give llteir onstvet's fu thcir cnvny,ord,s ct.s.fctr tts prctcticaltle.
All figules in the rnargin indicatc full rnarks.

Scction A
Long Ansrver Questions.
Attempt any TWO quesiions. [2 x 10 :20]

,,'A bil stt'ea:tt 
"11^0f.Q11011 

is tlansmitted irsing the standard CRC methoij. The generator' polr lrornia.ls is I00i l. uhar is thr'actual bir rr.ansrrrilrcd. ll0]

? \\/hai are tlie 1-caiu:es of application ia1'c'r? Wh\r DNS is requil'cd? Explain abour recLrrsive , lou-
recursive and iterative DNS queries. I2.t2-:6)

3. Provide reasoits for transitions ll-orn IPv.{ to 1Pv6. Describe iPr,6 datagram fbrnrat. l4j6)

Section B
Short Ansrver Questicns.
Atlt'r'r'rpt arrl EIG H'I qLlcstiolts.

A. Explain aboirt ccnnection oiiente d neiu,ork set.r,ices.

5. lllustrate the funci.ionalitl, of \,1edia Access Control.

.-6. Why do y'ou thinlt Netu'ork Functions VirtLralizatron architecture is reouirecl? Explain. t5]

I ' Assu,. e a class C netrvork and clii,ide it into three subnets. Wirat is the value of the nerv subnet'?

,'8.(

9.
.t-'"
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Dillerentiate betrveen lveb sen er and proxy server.

E.rplain the rvorkirg mechanism of token buitriet. .

i0. \\/hat cio you understairtl b1 PPP protocol? Explain i1s link settru pr-ocess.

.1 1 . Explain any two rr,ireless transrnissieit ntedias.

I2. Write shorl notes or-r:

<- a. IMAP
b. ICMP
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